During the 47th International Symposium on Functional Equations in 2009,
Jacek Wesolowski asked whether the identity on [0,1] is the only non-decreasing
and continuous solution ¢: [0,1] — [0, 1] of the equation

(1) p(z) = (g) +¢ (T) 2 (;)

satisfying
(2) ©(0)=0 and (1)=1.

This question is equivalent to the following problem posed by Janusz Matkowski
in [2]: Does equation have a nonlinear monotonic and continuous solution
:[0,1] = R?

The answer to Jacek Wesolowski’s question was obtained in [I]. Then class C,
consisting of all non-decreasing and continuous solution ¢: [0, 1] — [0, 1] of equation
satisfying , was examined in 3[4, [5] [6]. The purpose of this talk is to present
results concerning class C.
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